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SINGULAR AND PLURAL NOUNS WITH VERBS

Tick (      ) the correct verb that matches with the noun in each of the following 

sentences.

1)  My grandmother __ old. (is/are)

2)  A cycle and a tricycle ___ my vehicles. (is/are)

3)  Here ___ the keys. (is/are)

4)  Ten kilometers __ a long distance. (is/are)

5)  The apples on the table ___ green. (are/is)

A Singular noun agrees with a singular verb.

Singular nouns usually don’t end with ‘S’ but singular verbs end with ‘S’.

A Plural noun matches with the plural form of the verb.

Plural nouns usually have ‘S’ ending but the plural verb stem is without ‘S’.


